
(5t
1

TYP. GUARDRAIL

Q
MT. BLDG SUPPLIER TO PROVIDE 
WALL PANEL SLIP CONN. AT TOP OF MEZZ. 
AND ATTACHMENT ANGLE

TYP. GUARDRAIL ONE INCH 
AT FULL SIZE 

IF NOT ONE INCH 
SCALE ACCORDINGLYTYP. 3/161 4@12

TYP.
MT. BLDG SUPPLIER TO PROVIDE 

WALL PANEL SLIP CONN. AT TOP OF MEZZ.
AND ATTACHMENT PLATE

1/4 3@12
TYP. TYP.

1/4 3@12 3/16 3@121"C DECK
TYP. LD

1/4 4'L214X214X14 EDGE ANGLE <TYP.
ZL x" 1"C DECK TYP. QTYP.1" DECK W/ 

BOUNDARY 
ATTACHMENT

3/16 3@12 C5X6.7 W/ %"X4V2" 
PL. CONT.

1/4 3@12 3/16 3PLAIHSS4X21/2"X% CONT.C^_WALLHSS2 1/2X2 1/2 CONT.
(SEE PLAN)

■frC5X6.7 W/ 
1/4”X41/2" PL. 

CONT.
ii CM1" C DECK W/ CONC. 2 1/2" 

W/W.W.M. @ MID-DEPTH
o

GUARD RAIL ATTACH 
TO FACE OF C5

@ HSS 'ALL CMTTTYP. J>71/2" SQX1/2" @ 24" O.C. 
W/ (3) 1/2"0X4" H.S.A.

3/16 3
$

OI7~i r~u~L r~L r~L r~L r~L r~L r~L-r~L-r^L r~LScv-^ 71/2"X1/2"X24" W/ 
W/ (3) 1/2"0X4" H.S.A. 

W/1/2" GAPS DOWN WALL

HSS4X214"X14 CONT. .r~\r~\r~\r~\r~\r~\r~\r~\r~\r~t< ■\_• « w/ C5X6.7W/ ? GUARD RAIL ATTACH 
TO FACE OF C5

TYP. 8" BOND 
BEAM

X.
LU%"X41/2" PL. i

8" BOND BEAM LU1/4 4" CONT. z71/2"SQX1/2" @ JOIST BEARING & BTWN.
W/ (2) 1/2"0X4" H.S.A.

TYP. 71/2" SQ.X1/2"PL @ 2-0" O.C. 
W/ (2) 1/2"0X4" H.S.A.

ROOF JOIST-(SEE 
PLAN FOR SIZE)

• I[9. 8" BOND BEAM 71/2"X14”X HALF JOIST 
SPACING-1/2", CENTERED @ 
JOIST BEARING W/ 1/2"0X4" H.S.A.

_
1/4 CD4" l*CO

/? z
TYP. 8" BOND 

BEAM
O LU

ROOF JOIST-(SEE 
PLAN FOR SIZE)

TYP. 8" BOND 
BEAM

QCCO
L3X3X% BY 4" W/(1) 

1/2" DIA. EPOXY ANCHOR 
(SEE NOTE)

@ 12" O.C. LU>3 WX gLUCD co QCLU8" BLOCK WALL 
W/ REINF.

/ CO
BOTTOM CHORD BRIDGING 
BY JOIST MANUFACTURER. 
WELD TO PLATE @ WALL

FLOOR JOISTDCEXTEND VERT. REINF. 
INTO BOND BEAM

/ FLOOR JOISTLU < EXTEND VERT. REINF. 
INTO BOND BEAM

CD *COo > gLU
\/ BOTTOM CHORD BRIDGING 

BY JOIST MANUFACTURER. 
WELD TO PLATE @ WALL

<8" BLOCK WALL 
W/ REINF. (SEE PLAN)

CL/ NOTE: v

EPOXY ANCHOR SHALL BE:
1/2"0 HAS-V-36 HDG HILTI ROD EMBED 41/2" HIT-HY 200 R V3 IN GROUTED CELLS

I8" BLOCK WALL 
W/ REINF. (SEE PLAN)

LU <
©o >/

1. LI

TYP. HSS @ TOP OF CMU WALL
3/4" = r-o

^ TYP. JOIST PARALLEL TO EXTERIOR WALL ^ TYP. JOIST BEARING AT EXTERIOR WALL SECTION2 TYP. JOIST PARALLEL TO INTERIOR EDGE WALL TYP. JOIST BEARING AT INTERIOR WALL SECTION15
‘ ARKANSAS '3/4" = 1'-0 3/4" = 1'-0 3/4" = r-o 3/4" = r-oM M M I! I!

I1 V

s' Vsco LICENSED-j
U PpOFALUMINUM

GRATING
sCONTINUOUS 

TOP RAIL
s RUJ *APPLY ONE (1) COAT OF 

COAL TAR EPOXY TO 
PROVIDE DIELECTRIC 

SEPARATION BETWEEN 
CONCRETE AND ALUMINUM

Q ★  ★  ★
No. 14516

V&L

\
W/BEAM \MT. WALL PANELCD X3 DC

</V
nn v > 1 r

MT. BLDG. 
COL. FLANGE

8 TYP.q: RAIL & POSTS AS 
SPECIFIED

TYP.LL 1/4
3 3/4"■ua. r qh~

5/8" HSS 10X10X1/4 
W/ WT4X9 X 11

CD

AXCM

" 1 r POST BRACKET 
W/ (4) 1/2" BOLTS

3/8" END PL. C\s CO <> VVCD
POST

W-BEAM
CO TOEKICK

APPLY ONE COAT OF COAL TAR 
EPOXY TO PROVIDE DIELECTRIC 
SEPARATING BETWEEN 
GRATING AND BEAM

I 3CO CDCNJ BEAM OR CHANNEL g CDO'3r CO-ALO '(2- X3 ro \ <3,J 3 <> GRATINGo
COCONTINUOUS POST AT 

MAXIMUM 5-0" O.C. 
SPACING (TYP.)

6"21/2’ 
tT-----X

dcA OCNJ TYP. TYP.31/2"X1/2"X9" PL. W/ 
(3)3/4"0A325 BOLTS

DC LUo CNI1/44 5/8"CNJ "“‘t

CNI M--- {jjTYP. PROVIDE BRACKETS WITH SET SCREWS 
WERE REMOVABLE GUARDRAILS ARE REQUIRED 
POST BRACKET W/
(4) 1/2" BOLTS

x onn »CDCO WALKING SURFACE
<>

1/4/CNI CDTOEBOARD LO LUAx (Q) ^ UjCOOO TYP. A
a

LU\ LU3 1/2"
t = GRATING THICKNESS 

SEE GRATING NOTES
X

<uHSS4X4X1/4" BRACE 5" DC3s------3r x X Dg UTYP. HSS10X4 BM. TO MT. BLDG COL. CONN. ALUMINUM GRATING ON BEAM j ALUMINUM HANDRAIL g SIDE-MOUNTED TO BEAM ALUMINUM HANDRAIL POST9 8 O DC1" = r-o 3" = r-o 1" = r-o 1" = r-oH M I! I!

LO
.4SLU

3 1/2"
8"

AAt MT. WALL PANELW-BEAM (SEE PLAN) 1 1/2"—N 1/2"
‘-X3

MT. BLDG. 
COL. FLANGEHSS10X4 

(SEE PLAN)
HSS4X4X14 BRACE 
W/ WT4X9 X 6"
W/ (2) 3/4"0 A325 BOLTS

/ / X
CSJ i ©

Ax %
;< TYP.

<>
ROOF DECK RIBS 1/4L %" PLATE ATTACHED TO CO

JOIST X x
TOP OF DECK AS 
SHOWN aCL OF PANEL POINT OT PROVIDE #10 TEK 

SCREWS
ADD L2x2x3/16 (FIELD 
WELD) UNDER POINT 
LOADS THAT DO NOT 

OCCUR AT PANEL POINTS

L3x3x% FOR S <= 4'-0".
L5x3x% (LLV) FOR 4'-0"<S<=6'-6".

L5x3x% (LLV) x 0-6 
HANGER TYP.

m

A\
L314X314X3/8 W/ 

3/4"0 BOLTS PER SCHED.
1/2" PL.

o o o- Vt r\ A 6 1/2"i A^X
TYP.CD e 0 1/4TYP.

FOR OPENING SIZE 
& LOCATION SEE 
ARCH & MEP DWGS

3/16£ s ©r
!c

uj
00 L3x3x% FOR L <= 4'-0".

L5x3x% (LLV) FOR 4'-0"<L<=6'-6".
OPENING PER MEP LL =O

I «5> UJ 5^ CoTYP. W-BEAM TO HSS10 CONN. TYP. HSS4X4 BRACE. TO MT. BLDG COL. CONN.O) 11 10X.c o o 5CX2 RIBS MIN.1'-0"MAX. 3:5 o h-3 r 1" = r-o 1" = r-oii ii a.CM “! ~3 33 ATTACH AT NEAREST PANEL POINTNOTES: 05CQ CDO <0 UJ1. THE OPENING IN THE DECK SHALL NOT BE 
CUT AND REMOVED UNTIL NECESSARY. 
PROVIDE ANGLE SUPPORT UNDER ALL RTU 
CURBS.

i-PLANCL OF PANEL POINTco 5C3 r LL 5LOAD ON TOP CHORD UJ -JPLATE TO EXTEND 
2 RIBS PAST 
OPENING EACH 
SIDE

o A —i P<02. Qooo cc
T T UJ pCOO o U Ujc00 I- pccANGLE FRAME OOJ 5 QX ■S3/16 UJ'fr PO KCO OQm TYP. P (DGRATING ANCHOR CLIP 

W/1/4" S.S. BOLT, NUT, 
AND LOCK WASHER 

(2) EA SIDE OF TREAD

o a OO 23/16 o o ct 51/4" MAX0' - 0 1/2" MAX. 03
03 SitO CD coTpf-8 o-V s pp pa UJK-T—v\r C 12X20.7 STRINGER 

U.N.O.
J- \ 4

" A r — a r — a p o:~jE CD3 ■ 1 a-j Q ou.\T ' ~7/ W ' 
//

oANGLE HANGER PWELDED TAB 5CPco // PSTRINGER WEB coCNJ /ii \\ COs p1" TREADCD QM:JOIST Pco ADD L2x2x3/16 (FIELD 
WELD) OVER POINT 
LOADS THAT DO NOT 
OCCUR AT PANEL POINTS

X xACD -JCD
O ^ u CO

-c
p II P▼ ALUMINUM GRATING TREADP JL NOTES:O f r CLOF PANEL POINTP SEE ALUMINUM 

'GRATING STAIR 
TREAD DETAIL

APPLY ONE COAT OF COAL 
TAR EPOXY TO PROVIDE 

DIELECTRIC SEPARATION 
BETWEEN GRATING AND 

ANGLE

1. NO REINFORCEMENT IS REQUIRED IF OPENING IS 6"x6" OR SMALLER 
PROVIDED ONLY ONE RIB IS INTERRUPTED.
CLUSTERED OPENINGS WITH CLEAR SPACE LESS THAN 1 ’-0" SHALL BE 
TREATED AS ONE LARGE OPENING AND PROVIDE THE REINFORCEMENT 
AS PER DETAIL ABOVE.
THIS DETAIL SHALL NOT BE USED TO SUPPORT MECHANICAL EQUIPMENT.

PROVIDE PANEL POINT 
BRACING IF 7V> 3". SEE TYP. 
PANEL POINT REINFORCEMENT’ 
FOR DE

£ JOIST
CD ■fn-nrrLOAD ON BOTTOM CHORDmDj 2.o L3X3X3/8X3"

EA SIDE, WELDED 
TO STRINGER

Ddcc LU

SECTION A-A SECTION B-B CO
odNOTES:cc 3. -u AUGUST 2024->rDIAGONAL BRACE IS NOT REQUIRED FOR "A" LESS THAN THREE 

INCHES.
PROVIDE DIAGONAL BRACE AT CONCENTRATED LOADS SUCH AS: 
PARTITIONS, HEAVY PIPES, MECH. UNITS, HEAVY LIGHTS OR AT ANY 
OTHER CONCENTRATED LOADS AND AS NOTED ELSEWHERE IN THE 
STRUCTURAL DRAWINGS.

1.00 DATE:
STEEL L 2 1/2X2 1/2X3/8 8’CO MECHANICAL SUPPORT AND LARGE SMALL OPENINGSo As indicatedLO SCALE:□oo 2.CNJ 3 rUJ JMRDESIGNED BY:CO OPENINGS ALUMINUM GRATED STAIR TREAD DETAIL 3/4"0 S.S ADHESIVE ANCHORO TPL13 DRAWN BY:

CD 1" = r-oH 2020043HWEI NO.:o
o
Q SA-10FILENAME:

TYP. DECK AT OPENINGS TYP. PANEL POINT REINFORCEMENT STRINGER BASE CONNECTION AT CONCRETE SLABco B A 1203 SHEET NO.T3 1" = r-o" 1" = r-om 1" = r-o"o SA-103
■=T


